
count (log CFU/cm
2
)

Supplementary Figure 2
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I y = 0.59x + 0.55
r = 0.63, r² = 0.39, p < 0.01
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II y = 0.43x + 1.61
r = 0.30, r² = 0.09, p < 0.01
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III

y = 0.30x - 0.03
r = 0.56, r² = 0.31, p < 0.01
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IV y = -1.01x + 2.52
r = -0/29, r² = 0.09, p = 0.308
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V y = 0.12x + 0.91
r = 0.14, r² = 0.02, p = 0.569
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VI

y = -0.87x + 3.86
r = -0.54, r² = 0.29, p < 0.01
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VII y = -0.24x + 1.34
r = -0.11, r² = 0.01, p = 0.711
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VIII y = 0.06x + 0.74
r = 0.14, r² = 0.02, p = 0.624
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IX

y = -0.11x + 1.26
r = -0.19, r² = 0.04, p = 0.376
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X y = 0.02x + 0.91
r = 0.02, r² = 0.00, p = 0.949
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XI y = 0.38x + 0.17
r = 0.86, r² = 0.74, p < 0.01
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